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(A) (B) ) (B+C)/A
A 7,557,465 11,548 16,217 0.4
T2 2,898,000 2,929 5,397 0.3
Al A 4,659,465 8,619 10,820 0.4
Al A 2,449,581 4,725 6,671 0.5
EXA 501,722 1,046 1,833 0.6
HFA 466,297 1,117 1,940 0.7
dSA 463,016 914 1,739 0.6
SoAl 248,993 411 231 0.3
EfEH A 210,930 388 277 0.3
LA 201,857 383 326 0.4
A 356,767 466 325 0.2
= A 2,209,885 3,894 4,149 0.4
R R 248,576 390 230 0.2
= 180,380 341 681 0.6
Rl 204,013 377 834 0.6
g 218,969 368 422 0.4
MM 268,709 372 218 0.2
HAd 200,956 338 145 0.2
SHH 164,023 338 899 0.8
Rl 167,862 335 119 0.3
QIH 200,914 346 213 0.3
nNT 194,664 317 157 0.2
kbt 160,819 372 231 0.4




9. o|3|d| H|=

20044=  2005-HE | 2006HE | 2007HE  2008HE | 2009HE  2010HE

ol=ld| vz 2o|3|H| vz °o|3|H| slE o3y HIE °[S|H| HIE 2[3[H| HIFZ 2|3[H] HF

A 20,820 0.5 22,059 0.4 23,381 0.4 25,132 0.4 31,714 0.5 32,044 0.4 27,765 0.4

=% 5,461 0.4 6,148 0.3 6,432 0.3 8,417 0.4 10,889 0.4 7,972 0.3 8,326 0.3

ZMAl 1,784 06| 2,115 0.6 2,281 0.6 2,429 0.6 2,809 0.6 2,934 0.6 2,879 0.6

#FAl 1,605 0.6 1,808 0.6 1,905 0.6 2,394 0.6 2,874 0.7 3,004 0.6 3,057 0.7

ZEAl 1,947 0.6 2,150 0.7 2,138 0.6 2,252 0.6 2,560 0.6 2,853 0.6 2,653 0.6

Sl A 789 0.4 421/ 0.2 691| 0.4 529/ 0.3 719 0.3 720/ 0.3 642 0.3

EH EH Al 492 0.3 733| 0.3 666 0.4 559 0.4 1,137 0.6 767 0.4 665 0.3

EEA| 664 0.5 741 0.6 703 0.5 549 0.3 654 0.3 823 0.4 709 0.4

A A 610 0.3 588| 0.3 598/ 0.3 524/ 0.2 662 0.2 754] 0.2 791 0.2

ST 505| 0.3 450/ 0.3 529/ 0.3 503| 0.3 577/ 0.3 620] 0.3 620 0.2

2yd 826| 0.6 996 0.8 888 0.6 912/ 0.6 973 0.6 1,046/ 0.5 1,022 0.6

g 872 0.7 941 0.7 968 0.7 906/ 0.6 1,221 0.7 1,150 0.6 1,211 0.6

Hyd 511 0.4 575 0.4 601 0.4 655 0.4 615 0.3 834 0.4 790 0.4

HMT 386 0.2 500/ 0.3 841| 0.4 474/ 0.3 626 0.3 769| 0.3 590/ 0.2

Hed 785| 0.6 358| 0.2 709| 0.4 473 0.3 540/ 0.3 754 0.3 483] 0.2

St 1,052/ 1.0 1,036 0.8 1,071 0.8 1,124 0.8 1,312 0.8| 1,314/ 0.7| 1,237/ 0.8

T 281/ 0.3 325 0.3 346/ 0.3 404 0.3 584/ 0.3 592| 0.3 454/ 0.3

Ol M| = 965/ 0.8 787 0.6 513 0.3 507 0.3 700/ 0.4 667 0.3 559/ 0.3

oAt 845| 0.7 856 0.6 928 0.6 964 0.6 1,156/ 0.7 1,111 0.6 4741 0.2

kot 441 0.4 531| 0.4 573/ 0.4 557 0.4 1,106| 0.7 667| 0.4 603| 0.4




